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Part | Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 3 sections.

Section A
Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it. After each dialogue, there is a recorded question. The dialogues
and questions will be spoken only once. When you hear a question, you should decide on
the correct answer from the 4 choices marked A), B), C) and D) given in your test paper.
Then you should mark the corresponding letter on the Answer Sheet with a single line
through the centre.
Example: You will hear: M. Are you catching the 3:15 {light to New York City?
W: No, I'm leaving this evening.
Q: What do the speakers talk about?
You will read: A) New York City.
B) An evening party.
C) An air trip.
D) The man’s job.
From the dialogue we learn that the man is to take a flight to New York. Therefore,
C) An air trip is the correct answer. You should mark C) on the Answer Sheet. Now the
test will begin.
1. A) Eggs. B) Milk. C) Hamburger. D) Steak.
2. A) The man and the woman shopped all over the town.
B) The woman went to many different stores.
C) The woman bought some bookcases on sale.

D) The man sold the woman some expensive bookcases.

3. A) Go to Chicago another day. B) Come back in five minutes.
C) Take the ten o’clock train. D) Call the airport.
4. A) At the supermarket. B) In the restaurant.
C) In the man’s home. D) In the woman’s home.
5. A) $20.00. B) $4.00. ) $10. 00. D) $6.00.
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Section B

Directions: This section is to test your ability to understand short conversations. There are
2 recorded conversations in it. After each conversation, there are some recorded questions.
The conversations and questions will be read twice. When you hear a question, you should
decide on the correct answer from the 4 choices marked A), B), C) and D) given in your
test paper. Then you should mark the corresponding letter on the Answer Sheet with a
single line through the centre.

Conversation 1

6. A) In a foreign country. B) At home.
C) In the office. D) In the hospital.
7. A) Because he is diligent. B) Because he is considerate.
C) Because he is helpful. D) Because he is successful.
Conversation 2
8. A) At a birthday party. B) At a store.
C) At a bank. D) At a school.

9. A) Because she bought him that last year.
B) Because he didn’t like it.
C) Because he had many notebooks.
D) Because she didn’t find it.
10. A) A book. B) A sport suit. C) A pen. D) A football.

Section C

Directions: This section is to test your ability to comprehend short passages. You will hear
a recorded passage. After that you will hear five questions. Both the passage and the
questions will be read twice. When you hear a question, you should complete the answer to it
with a word or a short phrase (in no more than 3 words). The incomplete answers are printed
correspondingly in your test paper. You should write your answers on the Answer Sheet. Now this
is the passage.

11. A library is a place where

12. We can get information.

13. There are fiction, books.

14. Students go to libraries to study and to

15. He can telephone to get them.

Part | Structure (15 minutes)

Directions: This part is to test your ability to construct grammatically correct sentences. It

consists of 2 sections.

« 2
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Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete

each one by deciding on the most appropriate word or words from the 4 choices marked

A), B), C) and D). Then you should mark the corresponding letter on the Answer Sheet

with a single line through the centre.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

The crop has similar qualities to the previous one, both wind-resistant and
adapted to the same type of soil.
A) been B) being C) to be D) having been

Government reports, examination compositions and most business letters are the main

situations formal language is used.

A) in which B) on which

C) in that D) at that

If you that night, you might have been too late to get your ticket.
A) wouldn’t hurry B) didn’t hurry

C) hadn’t hurried D) hadn’t to hurry

By the time you arrive in London, we in Europe for two weeks.
A) shall stay B) have stayed

C) have been staying D) will have stayed

Staying in a hotel costs renting a room in a dormitory for a week.
A) twice more than B) as much twice

C) twice as much as D) as much twice as

By doing this type of balanced, relaxing exercises for a period of time, our responses

get than before.
A) quickly B) more quickly
C) quickest D) quicker
The party the students looked forward to yesterday afternoon.
A) was held B) being held
C) was to be held D) was being held
There is no need the umbrella with us. The sun is shining.
A) in bringing B) bringing
C) to bring D) of bringing
the flood, the ship would have reached the destination on time.
A) In case of B) Because of
C) But for D) In spite of
Shanghai has experienced such great changes that everyone can recognize that it is no
longer
A) what it used to B) that it used to like
C) the same it used to be D) what it used to be
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Section B
Directions: There are also 10 incomplete statements here. You should fill in each blank
with the proper form of the word given in the brackets. Write the word or words in the

corresponding space on the Answer Sheet.

26. I'd like to go with you, but with so much work to do this afternoon I'm (able)

to.
27. Her first (marry) ended after five years, then she went abroad.
28. When you have finished this experiment, include your (find) in a report.
29. The boy told mother that his homework (finish) by ten o’clock.
30. She was so angry that she felt like (throw) something at him.
31. With a lot of difficult problems Csettle) , the newly-elected president is

having a hard time.

32. If you want to sell your old car, why not put an (advertise) in the local
newspaper?

33. Tom made too many mistakes in the exam yesterday, he (be) more careful.

34. All the (participate) in the debate had an opportunity to speak.

35. On his way home, he saw an old friend and stopped (talk) with him.

Part [ Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for you to fulfill. You

should read the reading materials carefully and do the tasks as you are instructed.

Task 1

Directions: After reading the following passage, you will find 5 questions or unfinished
statements,numbered 36 through 40. For each question or statement there are 4 choices
marked A), B), C) and D). You should make the correct choice and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

It would be difficult to have a society like ours without public goods such as defense,
transportation, and other services.

A public good is the one that a person can use without reducing the use of it for
another person. One of the best examples of a public good is national defense. One person
can benefit from our national defense without reducing another person’s benefits. In fact,
it is difficult to keep any person in our society from enjoying the benefits of national
defense.

The market system does not work well in producing public goods. This is because a

o« 4 .
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person who refuses to pay for a public good cannot be kept from using it. Suppose that the
neighbors in a high crime area decide to hire a police force. Each neighbor, except Mrs.
Smith, agrees to pay $100 a year for it. Mrs. Smith refuses to pay because she knows that
if all the others pay the $100, the police will guard the area anyway. So Mrs. Smith can
enjoy the services of the police force without paying $100.

The market system has no way to deal with this type of problem. For this reason, we
cannot ask each person to make a direct payment in the form of product price. Therefore,
we collect money for public goods by using taxes.

36. According to the passage, public goods are

A) services enjoyed by all people

B) what we can buy and sell in public

C) products that we make for national defense

D) taxes paid by the people involved

37. The writer gives the example of national defense in paragraph 2 in order to show that

A) there will be no safety if there is no national defense
B) all the people should be responsible for national defense
C) a public good is a shared benefit for the whole society
D) some public goods are more important than others
38. The person who does not pay for a public good
A) keeps himself from using its benefits
B) cannot enjoy its benefits at any time
C) fails to keep its benefits from being used
D) enjoy its benefits all the same
39. In the third paragraph the author explains
A) what role the market system plays in producing public goods
B) how weak the market system is in producing public goods
C) why some people refuse to pay for public goods
D) what we can do to make use of the market system
40. From the passage we learn that the purpose of collecting taxes is to
A) ensure the continuous supply of public goods
B) reduce the difference between the rich and the poor
C) get extra money to support public goods
D) remind people of their duty

Task 2
Directions: This task is the same as Task 1. The 5 questions or unfinished statements are
numbered 41 through 45.

Escaping a fire is a serious matter. Knowing what to do before a fire breaks out can
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save a life. For example, people should know the safety measures to take before opening a
hall door during a fire. Also, make sure everyone knows how to unlock doors that may be
in the escape path. At times, a key is needed to unlock a door from the inside. So. keep the
key in the lock,or, you can put the key on a key ring and put it where it can be found easily.

If you live in an apartment, know the ways you can use to get out. Show everyone in
the family these routes. Stress the importance of using stairways or [ire escapes, not
elevators.

From most homes and the lower f{loors of apartment buildings, escape through
windows is possible. Learn the best way of leaving by a window with the least chance of
serious injury.

In a home fire, windows are often the only means of escape. The second floor window
sill is usually not more than 13 feet from the ground. An average person, hanging by the
fingertips, will have a drop of about six to the ground. Of course, it is safer to jump a short
way than to stay in a burning building. Rolling away {rom the building when you land.

Windows are also useful when you are waiting {or help. Often you’ll be able to stay in
the room for several minutes if you keep the door closed and the windows open. Keep your
head low in the window to be sure you get {resh air rather than smoke that may have leaked
into the room.

On a second or third floor, the best windows for escape are those which open onto a roof
or balcony. From the roof or balcony, a person can either drop to the ground or await
rescuer. Dropping onto cement or pavement might end in injury. Bushes, soft earth, and
grass can help to break a fall. A rope ladder should be considered when the drop is too great.

In a town where the fire department acts quickly, it may be best to wait for rescuer.
Close the doors and wait by an open window for help. Shout for help. Be sure to close the
door before opening a window. Otherwise, smoke and fire may be drawn into the room by
the draft.

41. From most homes you can escape a fire through the

A) attic B) garage C) windows D) balcony
42. Which of the following helps to break a fall from a second floor window?

A) Cement. B) Grass. C) Pavement. D) Concrete.

43. This article hints that windows are

A) easily broken B) good escape routes

C) often hard to open D) useful to shut off smoke
44, We can see from this article that

A) breathing in smoke might be harmful

B) rope ladders should not be used

C) youngsters often start most home fires

D) jumping out of a window during a fire is dangerous

45. The main idea of this article is that
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A) fireman are not well paid or well trained
B) it is not a good idea to smoke in bed or on a couch
C) people should know what to do before a fire breaks out

D) people should always keep the escape path open

Task 3

Directions: The following is a news report. After reading it, you are required to complete
the outline below it (No. 46 through No. 50). You should write your answers briefly (in no
more than three words) on the Answer Sheet correspondingly.

Shanghai residents will be able to rent more than 10 different kinds of vehicles,
including roadsters (}84-) and caravans (3§31 52 #i 42) » in the latter half of this year, the
Shanghai Morning Post reported.

A joint venture between Anji and AVIS, a famous international car rental company. is
the only joint venture company dealing with the car rental business in the domestic market.

According to some sources, the new co-operation will divide its motorcade (YK 4 47%1))
into nine levels of 12 categories, ranging {rom compact cars to luxury cars.

The joint venture is planning to buy cars like Porsche, Ferrari, BMW and even

caravans to meet various consumer demands.

More cars for rent
There will be 46 different kinds of vehicles for Shanghai inhabitants to rent.
The joint venture is a famous international 47 , and is engaged in the
48
The joint venture will purchase vehicles such as 49 , Ferrari, BMW and even
50
Task 4

Directions: After reading the following list of OCCUPATIONS, you are required to match
the English items with the Chinese equivalents in the table below. Then put the corresponding

letters in the brackets on the Answer Sheet, numbered 51 through 55.

A — artist B — businessman
C — chairman D — driver

E — economist F — foreman

G — guide H — house-agent
I — interpreter J — journalist
K — keeper L — lawyer
M — mailman N — nurse

O — official P — policeman
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Example: ( K ) &8 (C)H) HFK

51. ( ) FPE ( ) e

52. ( ) EEA ( ) LARRK

53. ( ) BUFHR ( ) JiiF

54. ( ) itH ( ) FIHL

55. ( ) B ( ) HEIE
Task 5

Directions: There are two passages on England Through My Eyes here. After reading them
you should give brief answers to the 5 questions (No. 56 through No. 60) following them.
The answers (in no more than 3 words) should be written after the corresponding numbers
on the Answer Sheet.

By Richard Shortway (male)

I've always loved London — it’s a passion of mine. I think it’s one of the great cities
in the world.

I love the people here. I've been invited to everything — shooting parties, polo (&
k), Wimbledon. I've met Prince Charles. He’s absolutely charming. It’s a super social
atmosphere here. 1 can’t believe, though, how much people eat and drink.

I like tennis, but I have hardly played here because of the weather. Last summer
seemed to last about a week and that was it. 1 went to the Cotswolds and to Devon, both
beautiful. I've always loved the British ambience (‘'4%., %) » and British clothes. I really
wonder, though, how you manage to live on the salaries that are paid here. London is
every bit as expensive as New York.

By Christina (female)

I fell in love with England because it was so quaint (A7 #Ef)— all those little houses,
looking terrible, old-fashioned but nice. I loved the countryside and the pubs. and I loved
London. I've slightly changed my mind after seventeen years because I think it’s a [ilthy
(BEA)) town now.

Things have changed. For everybody, England represented gentlemen, fair play,
good manners. The fair play is going, unfortunately, and so are the gentlemanly attitudes
and good manners — people slam doors in your face and courtesy (¥L§i) is vanishing.

The concept of the family seems to be more or less nonexistent in England. My family
is very closely knit (E% 454 #9) and that’s typically French.

56. What's London through Richard Shortway’s eyes?

It’s one of the of the world.

57. Why has Richard Shortway hardly played tennis in London?

Richard Shortway has hardly played tennis in London because of

58. What's the relationship between London and New York through Richard Shortway’s

8 .
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eyes?
Things are both in London and in New York.

59. What's London through Christina’s eyes?

She loved England because it was so quaint. But things

60. What's the family concept of the British through Christina’s eyes?

It seems to be nonexistent in England.

Part [V Translation (25 minutes)

Directions: This part numbered 61 through 65 is to test your ability to translate English into
Chinese. After each sentence of numbers 61 to 64, you will read four choices of suggested
translation. You should choose the best one and mark the corresponding letter on your
Answer Sheet. And write your translation of number 65 in the corresponding space on the
Answer Sheet.
61. Today, with our life going on at an increasingly faster pace, both mentally and
physically we are being more overdrawn than ever before.
A) AR BEAE AT ZE RN BN R B AT AN Sy AR T R 22 D A TR AT Y35 S
B) 4K BEE A 16 22 BN W F AT RS R W SRR 28 1 3 TR R AT BB S
C) A K BEAE A6 1 2B AR  FATTAORE P A4 0 8 28 P 36 i BT R AT Y35 3
D) 4K B AT T 22 R Wk . FATT e O B b By A b R 28 1 2 T ORAT B S
62. Reading furnishes the mind only with material of knowledge; it is thinking that makes
what we read ours.
A) A BRSO RAR BRI A 2 SRR B A Z A 2 RS .
B) 1 LB A #i L3R AR A 4R R BT IRA T B A8 B H 2 AR T
O 45 g4 0 R LR A RE U5 A RRIEFAT T T i Y 22 i A S Y AR 78 .
D) 345 HBE LA KE # b 32 SR B AR L R S8 25 A8 IR ATT T 32 B9 2R 74
63. May I have the privilege of an interview? If you will let me know when it is convenient
for you to see me, 1 will arrange my calendar accordingly.
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64. The management went back on its promise to increase salaries.
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